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QID : 101 - Select the related word from the given alternatives.
Hope : Despair :: Lunatic: ?

faw v fawent & ¥ Wefdd wsg 1 giul
37T : FART=I :: URTE : 2

Options:

1) Honest

2) Hardworking

iy

3) Sane

4) Stylish

ottt

Correct Answer: Sane

Candidate Answer: Sane

QID : 102 - Select the related letters from the given alternatives.
MOQ: NLJ::SUW:?

feu e fawedt & § Hefa siert ®1 gl

MOQ: NLJ::SUW:?

Options:

1) IGE

2) CEG

3) KII

4) HFD
Correct Answer: HFD
Candidate Answer: IGE

QID : 103 - Select the related number from the given alternatives.
111:37::123:7?

fau T fawedt § ¥ Hefld W6 & 9Tl

111:37::123:7?

Options:

1)41

2)31

3)21

4)71
Correct Answer: 41
Candidate Answer: 41
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QID : 104 - Select the odd word from the given alternatives.

feu 7T fawedl & 9 fawy wreg &1 gl
Options:

1) Wall clock

IR

2) Painting

EE]

3) Photo frame

Wil Ty

4) Carpet

Caic)

Correct Answer: Carpet

Candidate Answer: Carpet

QID : 105 - Select the odd letters from the given alternatives.

fau e fysedt & § fawm srert & gfie
Options:
1) LMN

2) PPQ
3) RST

4) VWX
Correct Answer: PPQ
Candidate Answer: PPQ

QID : 106 - Select the odd number from the given alternatives.

fau U fament B § faww e &) g
Options:

1) 80

2)17

3)13

4) 31

Correct Answer: 80

Candidate Answer: 80

QID : 107 - A series is given, with one word missing. Choose the correct alternative from the given ones that will complete the series.
yes, rain, alive, subtle, ?

TS 3 foar T B, o e Wisg g 71 fRu e fawent #f 9 ag Wel fawed 9T o S & /1 I

yes, rain, alive, subtle, ?

Options:

1) airport

2) smoke

3) inch

4) fabulous
Correct Answer: airport
Candidate Answer: airport

QID : 108 - A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
Abcd, ghIJ, Mnop, stUV, Yzab, ?
T Sy fear man B, forad uw ug qu B U U fawent B § a7 9 fawen g o S H & [ aR

Abcd, ghIJ, Mnop, stUV, Yzab, ?
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Options:
1) efGH

2) Efgh
3) cdEF

4) efCD
Correct Answer: efGH
Candidate Answer: efGH

QID : 109 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.
1,0.25,1/9,?,0.04,1/36
TS e faar ma 8, o ue e qw 71 AT T fawet & 9 9 wel fawed g o SmH Y O

1,0.25,1/9,?,0.04,1/36
Options:

1) 0.0625

2) 0.025

3)1/8

4)1/6
Correct Answer: 0.0625
Candidate Answer: 0.0625

QID : 110 - Eshan's birthday is on Friday 10 March. On what day of the week will be Shlok's Birthday in the same year if Shlok was born on 25t September?

TR BT S AR 10 A &Y 31 S Teli BT o1 25 Rydar &1 g3 o1 adl I aef weles 7 e aware | 3 fa gme
Options:
1) IV:onday

2) Wednesday
gYaR
3) Friday

RhdR
4) Thursday
BICSEIRS

Correct Answer: Monday

Candidate Answer: Monday

QID : 111 - The weights of 4 boxes are 70, 50, 30 and 90 kilograms. Which of the following cannot be the total weight,in kilograms, of any combination of these
boxes and in a combination a box can be used only once?

TR TR BT aoi 70, 50, 30 3R 90 frawm 21 Fafeied # ¥ gout & fordt off Tie ¥ oot avH, fPamm & &9 91 7161 8) TohdT § 3IR U gio § Uh ga U
2 TR VT B R o Gl 22

Options:

1) 220

2) 240

3) 210

4) 170

Correct Answer: 220
Candidate Answer: 220

QID : 112 - From the given words, select the word which cannot be formed using the letters of the given word.
SHORTING
FafRad fawed # ¥ 98 ss MU S AT 7T Weg & 31&RT BT TIRT HRab o] a1 off T

SHORTING
Options:
1) THORN

2) NITRO
3) NOISE

4) STING
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Correct Answer: NOISE
Candidate Answer: NOISE

Download More Pape8tftSelectionCommisiony vtJobs Alert.In

QID : 113 - If BAPTISM is coded as DCRVKUO, then how will TIN be coded as?

Tfe BAPTISM &) &t S # DCRVKUO Rl ST §, af TIN & 341 S & &1 foran wmgrm?

Options:
1) VKP

2) EBC
3) FDF

4) CLS

Correct Answer: VKP

Candidate Answer: VKP

QID : 114 - In a certain code language, '+' represents 'x', '-' represents '+', 'x' represents '+' and '+' represents '-'. What is the answer to the following question?

45x5-24+3 +80="?

o

freft s HIWT H, '+ BT Aol X' B, - BT Hadd '+' 8, 'x' BT Adad '+’ € 3R '+ DT Aderd ' 3| Fufafad uy &1 S o 82

45x5-24+3 +80="7?

Options:
1) 100

2) 52
3)1

4) 82
Correct Answer:

Candidate Answer: 1

1

QID: 115 - If 5$125 = 25, 12$48 = 4 then what is the value of 4$24 = ?

Ifg 5$125 = 25, 12$48 = 4 A 4$24 = ? &1 AF F1d FIFQA |

Options:

1) 34

2) 35

3)6

4)5

Correct Answer:

Candidate Answer: 6

QID: 116 -

6

Select the missing number from

the given responses

e a1v Rwedt & & g

& giav|
13| 7 |17
17 123 | 19
221 ? |323

Options:

1) 30

2) 102

3)29

4) 161

Correct Answer: 161

Candidate Answer: 161
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QID : 117 - Two planes start from the same airport. A flies 50 km East. B flies 15 km North, then turns East and flies 20 km, then turns to its right and flies 15 km.
Where is B with respect to A now?

3 oW U &) 5T 3 | IS HRA &1 A 50 .1, qd B 3R Igar 21 B 15 b . IR B 3R Igar B, R ud Bt 3k g & 3R 20 .. Isar 8, R oo arg
3R T a1 § 3R 15 fob.1f). IsaT 1 A 3 R T 3@ B ol R &2
Options:

1) 30 km East

30 fp. ot o

2) 70 km East

70 fo. 1. od

3) 30 km West

30 for. . ufgm

4) 70 km West

70 fo. 7. ufgmy

Correct Answer: 30 km West
30 .1t ufdm

Candidate Answer: 30 km West
30 for. 7. Tfgm

QID : 118 - In the question a statement is given, followed by two arguments, I and II. You have to consider the statement to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given arguments, if any, is a strong argument.

Statement : Should zoos be closed down?

Argument I : Yes, imprisoning animals is a crime.
Argument II : No, it is fine if some animals are kept in captivity for sake of entertainment.

U F U Sy faar T § R am &) a1 3R 11 feU TR B 1 U HET § o By I § 1R 98 Iad: Td at § e udid i 811 Sueh) Fiolg e § @t
2T 70 df & A SH-TY/BH-Y db Holgd €, TS B 81l

FYT: 1 FAfSamert oY & fasan s anfewe

TP I: BT, TFaRI B e, BT TP 3WRIY B
qd I1: T8, TR & [T 3R SIFaR} b e & 3@l Sl & o) 98 31 2|

Options:
1) if only argument I is strong.

Tfe Sael deb 1 Helgd ¢

2) if only argument II is strong.

g P dd 11 Feied 8|

3) if both I and II are strong.

g G b 1 3R 11 Heigd g

4) if neither I nor II is strong.

g 1 a9 1 SR A1 & a9 11 Teled B
Correct Answer: if only argument I is strong.
I Had ad 1 Iied 3

Candidate Answer: if neither I nor II is strong.

Ife A1 A qF 1 3R A1 T 11 7olgd

QID:119-

Which of the following cubein the answer
figure cannot be made based on the unfolded
cube in the question figure?

TFATaf@d 3ok 3Mpfd # & @it &7 g
RRw 1w geat afd A & g ua @
FATAT ALl T Thel?

H|O[X|O
i1
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Options:
1)

3)

O

4)

X

%Q‘

Correct Answer:

Candidate Answer:

i

QID:120-
In the following figure, square represents Physicians, triangle represents
cricket players, circle represents men and rectangle represents Indians.
Which set of letters represents cricket players who are either Indians or
men?

froafafad smefa & & fafsas! & gxifar g, By« fisde Raafsat
@I G &, 9 T5ul @] a=iial ¢ AR 3HAd YRl @I =Ifdr g1
H&RT &1 DI A1 94qg fsbdre RaaiSal o gxIldl & Sl a1 df HRdld §

Y &2

Options:

1) H,F,.D

2) ABE

3)D,FC

4) AG

Correct Answer: A,G
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Candidate Answer:

QID:121-

AG

Download More PapestaftSetestioneommisioiovtJobsAlert.In

Which answer figure will complete
the pattern in the question figure?
frafaf@a & & wla-dr 3cx asfa aea
wgfa & vfawa & qu FaEf?

)

Options:
1)

2)

Correct Answer:
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QID:122-
From the given answer figures, select the

one in which the guestion figure is
hidden/embedded.

& % Ieaw agfodt & F 3@ sl w1 v
T wea sl @Ra 2

Options:
1)

2)

3)

DK
>

4)

Correct Answer:

VALY
25 %,

Candidate Answer:

VARV,
VAN P
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QID: 123 -

A piece of paper is folded and punched as shown below
in the question figures. From the given answer figures,
indicate how it will appear when opened.

9T Al H Q@IT IHFTaR FeTsT
AlgF IAH Vg F adT Wee F 95 a8

e e amgfa St fews &
el N
T [ |
Options:
1)
OO
O/NG)
2)
Q
& G
&
3)
] C
Cx O

4)
Tl
00
i

Correct Answer:

@
BN
O

Candidate Answer:

B
SE]
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QID: 124 -

If a mirror is placed on the line MN, then
which of the answer figures is the right image
of the given figure?

Tfz v 90T H MN TET 9T T S ar &
Seal Hepfaat & & Sla-dr rpfar gea sepfer

T W Uifasa g

M N
Options:
1)

4)

Correct Answer:

Candidate Answer:
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QID: 125 -

A word is represented by only one set of numbers as given
in any one of the alternatives. The sets of numbers given
in the alternatives are represented by two classes of
alphabets as shown in the given two matrices, The columns
and rows of Matrix-1 are numbered from 0 to 4 and that of
Matrix-II are numbered from 5 to 9. A letter from these
matrices can be represented first by its row and next by its
column, for example 'K' can be represented by 42, 34 etc
and 'Z' can be represented by 75, 86 etc. Similarly, you
hawe to identify the set for the word 'RUBY.

TF U FE U WEO-EEE @ g amn §, S R
TrFeur 7 & T v fEr owr §) et A fZeoaw
FEO-HAE MR & g 99 g@nr guiw aw o i few
I g R A §l AegE-l F FEN 3R 9 $r A
0% 4 3 amege-ll 5 F 9 B g wegEl § UE R
F 9gd IER 9fFT HIT A § TR FEm gan g A
THAT ¥l FEERW & AU K # 42, 34 WY g@n g
wEHaT § Tur ‘2 # 75, 86 WY @ gufvar S s B
=il oiE @ W9 e A U e 'RUBY' & I wog

FI TR &l

Matrix | Matrix 11

L Y -0
ofl1]2]aJa s[e|7]s]s
o|J|Mm|D|C|E s|wlu|n|P|s
1| C|H|K|M| I 6 | W|S5|R|Z W
2|A|D|F|H]|L 7|lz|s|o|[s|¥
3| E|G|A|E|K g|x|z|s|¥|R
4a|lBlc|K|c|@ slo|lu|s|uju

Options:
1) 42,31,76,68

2) 00,20,57,88
3) 30,12,66,67

4) 67,56,40,88
Correct Answer: 67,56,40,88
Candidate Answer: 67,56,40,88

QID : 126 - From which of the following, is the GDP of a country not derived from?
frofeiad o @ fra I 31 &1 Id B SIS U TeT Blal 87

Options:
1) Agricultural sector

2) Industrial sector
3) International sector
4) Service sector

Correct Answer: International sector

C;ndidate Answer: International sector

QID: 127 - is the set of all possible combinations of the two inputs that yield the same maximum possible level of output.
I 3l 3T b G GART T AT BiaT B, S TAM Sifibay JHIfad wR &1 fFid U o g

Options:

1) The Short Run

AHeUhTdd

2) The Long Run

3) Isoquant
BEIERIEI
4) Average product
JdT
Correct Answer: Isoquant
RUIGRIFI
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Candidate Answer: [ NOT ANSWERED ]

QID: 128 - means that the President of India can refer any matter that is of public importance or that which involves interpretation of Constitution to

Supreme Court for advice.

F IR R BT AFUT Abfed a1 Gfau $t oare I Fwifid it fava o) yata e & o wme & e 39 9 3

Options:
1) Original Jurisdiction
EIIREAEN DEN

2) Writ Jurisdiction

e aw=h

3) Appellate Jurisdiction
Sftitett QeTfiIPR

4) Advisory Jurisdiction

SN

Correct Answer: Advisory Jurisdiction
HaTg e

Candidate Answer: [ NOT ANSWERED ]

QID : 129 - There are total parliamentary seats (Rajya Sabha constituency) in Sikkim.

Rfpr dpa_ Jgdig @i @rougyr fPafa &) 7
Options:
1) 11

2)19
3) 10

4)1
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

QID : 130 - Dara Shikoh was killed in conflict with his brother

SRT RITg oo WIS & a1y To & ARy T
Options:
1) Jahangir

2) Aurangzeb
T

3) Babur

EICES

4) Shah Jahan

RIS

Correct Answer: Aurangzeb

Candidate Answer: [ NOT ANSWERED ]

QID : 131 - The Arabic work of al-Biruni that gave an account of the subcontinent is called

-5t gRT 3R H fofad frde ford SuAgEIT o1 e wikan fiyern 8, &1 99 1|
Options:

1) Kitab - Al Hind

fpae - o foe

2) Kitab - Al Bharat

P - o/ URA

3) Pustak - Al Hind

TP - 3 g

4) Pustak - Al Bharat

T - 3d URA

Correct Answer: Kitab - Al Hind

fpae - o foe

Candidate Answer: [ NOT ANSWERED ]

QID : 132 - How many union territories does India have as of June 2017?

S 2017 9% R | fra- g MR U= 82
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Options:
1)7
2)6
3)5

4)4
Correct Answer: 7
Candidate Answer: 7

QID : 133 - The northern plain of India is formed of

YR &1 I B YR
Options:
1) metamorphic soil

qa

2) igneous rocks

3) alluvial soil

4) old crystalline rocks
fopvedig agM
Correct Answer: alluvial soil
R
Candidate Answer: alluvial soil

el qal

QID : 134 - Lion, Leopard and Tiger are all species of which genus?

IR, e 3R TR A weft i g =1 & orrelt 82
Options:
1) Solanum

2) Panthera
ToRT

3) Felis
e

4) Tigris
feia

Correct Answer: Panthera
Yoy

Candidate Answer: Panthera
EUR

QID:135- are made up of sclerenchymatous cells. These are generally absent in the primary phloem but are found in the secondary phloem.

TRBIH BT F 57 8§13 Ur: Wi geed § T2 ure ore; A 3 fgcfias weien & v8a 8
Options:
1) Xylem fibres

2) Xylem parenchyma

SIENLE
3) Phloem parenchyma

4) Phloem fibres

TeileH g

Correct Answer: Phloem fibres

TRIIGH T

Candidate Answer: [ NOT ANSWERED ]

QID : 136 - What type of a body plan does coelenterates, ctenophores and echinoderms have?

e, TIHR 3R TdTEIsH B IR FAMS 75T THR 3t i 82
Options:
1) Annelida

2) Radial
g
3) Bilateral

4) Platyhelminthes
Wi TR
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Correct Answer: Radial

Candidate Answer: [ NOT ANSWERED ]

QID : 137 - If the speed of an object moving along a straight line is constant, its motion is said to be

Ife; fpet TRa a1 & S T IR arelt a¥g BT T FRR 5 § A I I I 0 B HET oIl 81
Options:
1) Uniform

THYAM
2) Periodic
3fradf

3) Circular

4) Non-uniform
SITH

Correct Answer: Uniform
THIHA

Candidate Answer: Uniform
THIHM

QID : 138 - The strength of a force is usually expressed by its

ERECARERGIR I HEED J 7} St B
Options:
1) Motion

2) Direction
3) Interaction
3= fopa
4) Magnitude
giHmr

Correct Answer: Magnitude

Candidate Answer: Magnitude

QID: 139 - is not a storage device.

T HSRU g g 21
Options:

1) iPod

frzuls

2) Pen drives
ERELE
3) Linux

4) Flash Disks
R e
Correct Answer: Linux

Candidate Answer: Linux

QID : 140 - Magnesium (Mg) + Oxygen (O3) = ?

IARET (Mg) + 3fiafisH (0,) = ?

Options:
1) Mg,0

2) MgO4
3) 0,Mg

4) Mgo
Correct Answer: Mgo
Candidate Answer: MgO

QID : 141 - What is the reaction between an acid and a base called?

3 IR &R & Sid g arelt sifiiforan &1 o1 ped 82
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Options:
1) Desalination

2) Crystallisation
fopeeciimRur
3) Neutralisation

4) Sublimation
Correct Answer: Neutralisation

Candidate Answer: Neutralisation

QID : 142 - According to an estimate, almost ___ percent forests have been lost in the tropics, compared to only 1 percent in the temperate region.

TH HMHAT & STIR AT & F Fad U WA= 97 A §U &, STafP SUlbfesy § amy Ufe=Id a1 8 § T 7|
Options:

1) 20

2) 40

3)60

4)80

Correct Answer: 40

Candidate Answer: [ NOT ANSWERED ]

QID: 143 - scheme launched by the Central Government is a new crop insurance scheme to boost farming sector in the country.

FEWBRGRT_____ IIoHl LR= B T 8 ot B Teb T Hivtea s dior & et I2a 221 & it &1 &) wgrar o1 2
Options:
1) Soil Health Card
a1 W HTS
2) Shyama Prasad Mukherji R-urban Mission
T TG ol S-S e
3) Pradhan Mantri Fasal Bima Yojana
U Hue ST T e
4) National R-URBAN Mission
R-37&
Correct Answer: Pradhan Mantri Fasal Bima Yojana

TYH B ST aroiT

Candidate Answer: Pradhan Mantri Fasal Bima Yojana

YA e ST gieT

QID : 144 - Who discovered Proton?
UeH 31 @ fe @2

Options:

1) Ernest Rutherford

T IERBIS

2) Friedrich Miescher

3) Henri Becquerel

4) Henry Cavendish

TR hafsy

Correct Answer: Ernest Rutherford

Candidate Answer: Henry Cavendish

QID : 145 - Who is the winner of 2017 Indian Premier League (Cricket)?

2017 33T iR < (e 1 fasiar o 82
Options:
1.) qubgi Indians

2) Rising Pune Supergiant
3) Delhi Daredevils

4) Sunrisers Hyderabad
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Correct Answer: Mumbai Indians
s 3fed

Candidate Answer: Mumbai Indians

QID : 146 - In which city of India is Dhamek Stupa located?

YIS WU HRA P 59 e § fRud 82
Options:
1) Pune

2) Delhi
faeht
3) Varanasi

4) Hyderabad
Correct Answer: Varanasi

Candidate Answer: Pune

QID : 147 - Which of the following was the winner of the Grammy Awards 2016 "Song of the Year'"?

froffad o & I PR 2016 T BT "G 376 T ST AT B T U
Options:
1) Alright

2) Blank Space
i g

3) Girl Crush

Td 59

4) Thinking Out Loud

R sm3c ass

Correct Answer: Thinking Out Loud
[RICREI AR

Candidate Answer: [ NOT ANSWERED ]

QID : 148 - Which of the statements given below are correct?
1. The author of the novel 'Dodgers' is Don Winslow.

2. The author of the novel 'Forty Thieves' is Bill Beverly.
3. The author of the novel 'The Corrections' is Thomas Perry.

Tt 23 T Bl § A P  HYUT I 87

1. U "SIS" & G S [T g
2. I "B fioq" & G fad Sael
3. SU "T BRI P @ Uiy O B

Options:

1)1and 2

18R 2

2)2and 3

23R 3

3)land 3

19k 3

4)1,2and3

1,233

Correct Answer: 1, 2 and 3
1,233

Candidate Answer: [ NOT ANSWERED ]

QID : 149 - What was Australia's rank in 2016 Human Development Index published by the United Nations Development Programme?

2016 ¥ Y& Y I SRIHH gRT USRI A4 [ Yaaie | sikefoman o1 4uft & o
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Options:
1)2

2) 20
3) 100

4) 200
Correct Answer: 2
Candidate Answer: 20

QID : 150 - The Samjhauta Express runs between Delhi to which city in Pakistan?

T TR el iR wifda & o wer & i & gadt 82
Options:

1) Karachi

CNE

2) Islamabad

ST
3) Quetta
wal

4) Lahore
Correct Answer: Lahore

Candidate Answer: Karachi

QID : 151 - What is the largest 4 digit number that is exactly divisible by 93?

4 3! B TIY TS W@, W 93 W T TRE F fIwird gt ], ;R
Options:

1) 9961

2) 9971

3) 9981

4) 9951

Correct Answer: 9951

Candidate Answer: 9951

QID: 152 - A, B and C can finish a job working alone in 20, 30 and 60 days respectively. They all work together for 1 day, then A and B quit. How many days C
working alone will take to finish the remaining part of the job?

A, B 3TR C Uth TH &1 3{hd HH: 20, 30 3R 60 & & B Tba &1 It 7 1 37 & Riw uep Ty firaess &1 foban, fiR A 3R B B &R Td SId €1 C 3% BTH B
BU e T3 & = gon W 19 T Hm?

Options:

1) 60

2) 54

3)6

4)27

Correct Answer: 54

Candidate Answer: 54

QID : 153 - What is the area (in sq cm) of a rectangle of perimeter 90 cm and breadth 20 cm?

90 .7, Y aRfY 2k 20 .. ST I U 3mad &1 AFha (avf J.A. /) A R?
Options:

1) 500

2) 400

3) 250

4) 450

Correct Answer: 500

Candidate Answer: 500

QID : 154 - If the selling price of an item is Rs 9750 after getting a discount of 25%, then what was its marked price (in Rs)?

Ife; frht ag 7 fash! Gea 25% o1 ge firas & §18 9750 % §, o 9T 3ifdhd I (% H) &1 ur
Options:
1) 13000
2) 12187
3) 14000
4) 13187

Correct Answer: 13000
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Candidate Answer: 14000

QID : 155 - If 3A = 2B = 4C; then whatisA : B : C?

G 3A=2B=4CTAA:B: CHIT?
Options:
1)3:2:
2)6:4:
3)4:6:
4)2:3:
Correct Answer: 4:6:3

Candidate Answer: 4:6: 3

A WWH

QID : 156 - The average cost of 5 items in a shopping list is Rs 650. If one more item whose cost is Rs 1400 is added to the list what will be the new average (in
Rs)?

WER &1 Gl & 5 agsit B Sid B 650 T 71 TG 1400 T HIAT ATel T SR a%g Gt & STell St 3, & 1S 3hdt (3 &) m ghire
Options:

1) 775

2) 875

3) 725

4) 825

Correct Answer: 775

Candidate Answer: 725

QID : 157 - If a vendor sells apples at Rs 170 per kg he suffers 15% loss. If he sells at Rs 230 per kg, then what is his profit percentage?

Ife; wep 3%t 170 ¥ fd 7521, 3 <R T Y7 3771 § &l W 15% THH SIT 31 230 T U .31, R S I IHeb1 A wfaw e g
Options:

1) 15

2) 10

3)5

4)20

Correct Answer: 15

Candidate Answer: 15

QID : 158 - If 40 is 0.05% of x, then what is the value of x?

Ife 40, x BT 0.05% & & x BT HH F7 82
Options:

1) 80000

2) 8000

3) 800

4) 80

Correct Answer: 80000

Candidate Answer: 80000

QID : 159 - A taxi going at 90 km/hr takes 35 minutes to travel a certain distance. By how much should it increase its speed (in km/hr) to travel the same distance
in 21 minutes?

g:ﬁ%a;ﬁ%%)ﬁo?ﬁtﬁa/ﬁaﬁwﬁﬁ@a@aﬁwasﬁ%ﬁqﬁm%l I & 31 21 e B g B & I eroeh Tifa (fpdidtey/der ®)  forart afs
?

Options:

1) 60

2) 150

3) 120

4) 90

Correct Answer: 60

Candidate Answer: 150

QID : 160 - If compound interest received on a certain amount in the 2nd year is Rs 1200, what will be the compound interest (in Rs) for the 4th year on the same
amount at 10% rate of interest?

I U Afya i R g o U Ishafe ST 1200 3 8, O S R W 10% T &R J Y TN BT Tk sl (3 H) B gem?
Options:

1) 1452

2) 1320

3) 1552

4) 1420

Correct Answer: 1452
Candidate Answer: [ NOT ANSWERED ]
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QID: 161 - If 17/3 + [3(2x - 5/3)]/2 = 1/6, then what is the value of x?

Tl 17/3 + [3(2x - 5/3)]/2 = 1/6 B, A x BT HH T &2
Options:

1)1

2)3

3)-3

4)-1

Correct Answer: -1

Candidate Answer: [ NOT ANSWERED ]

QID:162-Ifa+ b =5and ab = 6, then what is the value of a3 + b3 ?

gda+b="53WRab=68,dad+ b3 B TH FTE?
Options:

1) 32

2) 38

3)35

4) 34

Correct Answer: 35

Candidate Answer: 35

QID : 163 - The sum of a fraction and 3 times its reciprocal is 37/10. What is the fraction?

T i SR 3P YehH & 3 7O &1 ANT 37/10 71 I8 i Fr 82
Options:

1)5/2

2) 2/5

3) 5/4

4) 4/5

Correct Answer: 5/2

Candidate Answer: 5/2

QID : 164 - The 4t and 7t term of an arithmetic progression are 11 and -4 respectively. What is the 15t term?

TR 2uft T T 3R [raal U A 11 3R -4 81 15-97 U 1 82
Options:

1) -49

2) -44

3) -39

4)-34

Correct Answer: -44

Candidate Answer: [ NOT ANSWERED ]

QID : 165 - What is the reflection of the point (5, -1) in the liney = 2?

Xy = 27 fig (5, -1) &1 ufafds T &2
Options:

1) (5 -5)

2) (-5, -5)

3) (5, 5)

4) (-5, 5)

Correct Answer: (5, 5)

Candidate Answer: (5, 5)

QID : 166 - In what ratio is the segment joining points (2, 3) and (-2, 1) divided by the Y-axis?

&g (2, 3) 3R g (-2, 1) BT SIS TTeN RIRGS Y-348f GRT oy argura o fyunir e s &2
Options:

1)1:2

2)1:1

3)3:1

4)2:3

Correct Answer: 1:1

Candidate Answer: 1 : 1

QID : 167 - What is the slope of the line 2x - 5y = 12?

@1 2x - 5y = 12 BT AN R 8?
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Options:
1) 2/5
2)5/2
3)-2/5
4) -5/2
Correct Answer: 2/5
Candidate Answer: 5/2

QID : 168 - Triangle AXYZ is similar to APQR. If XY:PQ=5:1. If Area of APQR is 5 sq cm, what is the area (in sq cm) of AXYZ?

fIYS AXYZ, APQR % THEY 7| MG XY:PQ=5:1 3R APQR HT &hel 5 aff J.1H. &, Tl AXYZ &1 &t (vt 9.7, ) Fam 52
Options:

1) 125

2) 120

3) 100

4) 64

Correct Answer: 125

Candidate Answer: 125

QID : 169 - What is the value of Cot 60° - Sec 30°?

Cot 60° - Sec 30° T HIF T 82
Options:

1)-1/3

2) -1/v3

3)1/V3

4)1/3

Correct Answer: -1/V/3
Candidate Answer: -1/v3

QID : 170 - A ABC is right angled at B. If mzA = 30°. What is the length (in cm) of AB, if AC = 8 cm?

A ABC, B TR THHIUT §1 T mA = 30° §, o AB B <faTg (IR H) 0 8, Ifg AC = 8 FdHIeR 82
Options:

1) 2v3

2) 4v3

3) 4/V3

4) 2/V3

Correct Answer: 4v/3

Candidate Answer: 43

QID : 171 - If Cot © = 24/7, then what is the value of Sec 6?

e Cot 8 = 24/7, A Sec 6 T HH FT 32
Options:

1) 7/25

2) 25/24

3) 8/25

4) 9/25

Correct Answer: 25/24

Candidate Answer: 25/24
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QID:172-

The line graph shows the record of number of admissions to a certain coaching centre from 2011 to
2016. Study the dizagram and answer the following questions.

AT AE 2011 ¥ 2016 dF T Wffag Sifd dex F gfgs & d=w &1 AR foamar &
= FNE F WA H1 HY i 9eE & Sea] 5l

400
350
350
300
300
250
-
250
2 200
a2 150
]
-g 150
100
g 100 =
S50
[} T T T 1
2010 2011 2012 2013 2014 2015 2016 2017
Year [ o4

In how many years was the number of admissions greater than that of the previous year?
foram auf & ed af & ga & eiaet ot Tem it e

Options:

1)2

2)3

3)1

4)4

Correct Answer: 3

Candidate Answer: 3

QID:173-
The line graph shows the record of number of admissions to a certain ceaching centre from 2011 to
2016. Study the diagram and answer the following questions.

ATS IME 2011 W 2006 dF O FAiad wifr ¥t & gfgs &1 aen & =8 G )
= FNE F aE F1 HY FeatET et # 5o 5l

200
350
350
300
300
250
-
250
2 200
2 150
2
£ 10
100 1540
2 w0
50
L] T T T 1
2010 2011 2012 2013 2014 | 2015 2016 2097
year /3%

Ignoring year 2016 how many students took admission in the coaching centre since its inception in the year 2011?

T 2016 FI BISHR, T 2011 F ARH F 915 J [ oE 3 ST Jex § e feam
Options:

1) 1300

2) 1200

3) 900

4) 1000

Correct Answer: 1000

Candidate Answer: 1000
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QID:174 -

The line graph shows the record of number of admissions to a certain coaching centre from 2011 to

2016. Study the dizagram and answer the following questions.

AT AE 2011 ¥ 2016 dF T Wffag Sifd dex F gfgs & d=w &1 AR foamar &

T A & HeOEE & R e 9eer & seaw £

200

350
350
300
250
200

150

Adniksions [ TG
]

100

50

L] T T T 1
2010 2011 2012 2013 2014 2015 2016 2017

Year / o

Admissions in the year 2014 grew by percent as compared to the previous year.

oo af & ga & v 2014 A i@t & yfa=rd a9 9f& gs |
Options:

1) 50

2) 100

3) 40

4) 66.67

Correct Answer: 66.67

Candidate Answer: 66.67

QID: 175 -
The line graph shows the record of number of admissions to a certain ceaching centre from 2011 to
2016. Study the diagram and answer the following questions.

ATS IME 2011 W 2006 dF O FAiad wifr ¥t & gfgs &1 aen & =8 G )
= @ # e w1 i Beefafde st a1 seaw #)

200
350
350
300
300
250
-
250
2 200
2 150
2
£ 10
100 1540
2 w0
50
0 : : T )
2010 2011 2012 2013 2014 [ 2015 2016 2097
year J o

If fees charged by the coaching centre was Rs 10000 for the first 3 years and Rs 12000 for the next three years then what is the total fees (in Rs. Crores) collected
by the coaching centre in the last six years?

zrﬁf%ﬁﬁv%mwumwﬁ%ﬁm 10000 ¥ 3R 311 & o9 o & 7w 12000 T &1, A FUDd B8 auf § HIRAT Yo gRI T B T8 $d Yob ( BRIS T H) fbat
?

Options:

1) 1.48

2)1.38

3)1.28

4)1.18

Correct Answer: 1.48
Candidate Answer: 1.48

QID : 176 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

They did nothing (1)/ that was down the (2)/ dignity of princes. (3)/No Error (4)
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Options:
1)1
2)2
3)3
4)4
Correct Answer: 2
Candidate Answer: 1

QID : 177 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

What are (1)/ you doing (2)/ by here? (3)/No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 3

QID : 178 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Do you own a copy of Shakespeare's Hamlet?
Options:

1) chance

2) chances

3) perchance

4) by chances

Correct Answer: perchance
Candidate Answer: by chances

QID : 179 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

A police detective often finds himself in the position of having to between a lie and a truth.
Options:

1) extinguish

2) distinguish

3) finish

4) languish

Correct Answer: distinguish

Candidate Answer: languish

QID : 180 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Commemorate

Options:

1) Opprobrium

2) Reproach

3) Disrepute

4) Celebrate

Correct Answer: Celebrate

Candidate Answer: [ NOT ANSWERED ]

QID : 181 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Plebiscite

Options:

1) Referendum

2) Tyranny

3) Despotism

4) Monarchy

Correct Answer: Referendum

Candidate Answer: [ NOT ANSWERED ]

QID : 182 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Rampage
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Options:
1) Binge
2) Frenzy
3) Harmony
4) Turmoil

Correct Answer: Harmony
Candidate Answer: [ NOT ANSWERED ]

QID : 183 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Blasphemous
Options:

1) Pious

2) Profane

3) Sacrilegious
4) Irreligious

Correct Answer: Pious
Candidate Answer: [ NOT ANSWERED ]

QID : 184 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To have something on the brain

Options:

1) To be obsessed with something

2) To be ready with an immediate smart witty reply

3) To unable to solve a particularly difficult philosophical problem
4) To think wistfully about past life

Correct Answer: To be obsessed with something
Candidate Answer: To be ready with an immediate smart witty reply

QID : 185 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Not one's cup of tea

Options:

1) To stop having breakfast

2) To accept defeat even before attempting to take up the challenge
3) To be satisfied with less

4) Not one's choice or preference

Correct Answer: Not one's choice or preference
Candidate Answer: Not one's choice or preference

QID : 186 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

The battle (to rage) for some time.
Options:

1) is raging

2) has been raged

3) had been raging

4) no improvement

Correct Answer: had been raging
Candidate Answer: had been raging

QID : 187 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

She glanced back to make sure she (wasn't to be) observed.
Options:

1) wasn'tbe

2) weren't being

3) wasn'tbeing

4) no improvement

Correct Answer: wasn'tbeing

Candidate Answer: wasn'tbeing

QID : 188 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

The crime of betraying one's country

http://thepracticetest.in/cs_cglet1_17kesponssl qazstidnb pig?tHasmrgindDranm=sappias 368062h74107/:081771 12c90c38850# 24/27



91712017 Download More Pape8taftSelectionCommisiony vtJobs Alert.In

Options:

1) Treason

2) Frankness

3) Fidelity

4) Allegiance

Correct Answer: Treason

Candidate Answer: [ NOT ANSWERED ]

QID : 189 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Fanatical and uncompromising pursuit of ideals
Options:

1) Nonpartisan

2) Zealotry

3) Neutral

4) Aloof

Correct Answer: Zealotry
Candidate Answer: Nonpartisan

QID : 190 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) Composure

2) Cumposure

3) Composore

4) Cumposore

Correct Answer: Composure
Candidate Answer: Composure

QID : 191 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) Alliviate

2) Aleviate

3) Alleviate

4) Aliviate

Correct Answer: Alleviate

Candidate Answer: Alleviate

QID : 192 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

"Phew," said I, grabbing
X-cheerfully round my head
Y-at the halo of flies
Z-which buzzed

Options:

1) YZX

2) YXZ

3) Xzy

4) XYZ

Correct Answer: YZX

Candidate Answer: YZX

QID : 193 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

The investigations of the

X-peculiar place in the economy of the body
Y-physiologist and the psychologist

Z-have revealed that the brain holds a
Options:

1) YXZ

2) Xzy

3) XYz

4) YZX

Correct Answer: YZX

Candidate Answer: YZX

QID : 194 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

The choir really enjoys that piece.
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Options:

1) That piece are really enjoyed by the choir.

2) That piece is really enjoyed by the choir.

3) Enjoyment of that piece is done by the choir.

4) Enjoying of that piece is done by the choir.

Correct Answer: That piece is really enjoyed by the choir.

Candidate Answer: That piece is really enjoyed by the choir.

QID : 195 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

Akash said, "Mahesh has gone home."

Options:

1) Akash said that Mahesh has gone home.

2) Akash said then Mahesh had gone home.

3) Akash said then Mahesh has gone home.

4) Akash said that Mahesh had gone home.

Correct Answer: Akash said that Mahesh had gone home.

Candidate Answer: Akash said that Mahesh had gone home.

QID : 196 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Most of all to the rambler on avian lore intent is the fact that there are many species and genera that are peculiar to the
West, and new to him, keeping him constantly on the 'qui vive'. Colorado you will look in vain for the common
blue jay, so abundant in all parts of the East; but you will be more compensated by the presence of seven other species
the jay household.
Most of all to the rambler
Options:
1) interesting
2) interest

3) interested
4) interests

Correct Answer: interesting
Candidate Answer: interesting

QID : 197 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Most of all to the rambler on avian lore intent is the fact that there are many species and genera that are peculiar to the
West, and new to him, keeping him constantly on the 'qui vive'. Colorado you will look in vain for the common
blue jay, so abundant in all parts of the East; but you will be more compensated by the presence of seven other species
the jay household.
West, and new to him, keeping him constantly on the 'qui vive'.
Options:
1) therefore
2) because
3)if
4) for

Correct Answer: therefore
Candidate Answer: therefore

QID : 198 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Most of all to the rambler on avian lore intent is the fact that there are many species and genera that are peculiar to the
West, and new to him, keeping him constantly on the 'qui vive'. Colorado you will look in vain for the common
blue jay, so abundant in all parts of the East; but you will be more compensated by the presence of seven other species

the jay household.

Colorado you will look in vain for the common blue jay
Options:
1) On
2)In
3) Into
4) Onto

Correct Answer: In
Candidate Answer: Into
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QID : 199 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Most of all to the rambler on avian lore intent is the fact that there are many species and genera that are peculiar to the
West, and new to him, keeping him constantly on the 'qui vive'. Colorado you will look in vain for the common
blue jay, so abundant in all parts of the East; but you will be more compensated by the presence of seven other species

the jay household.

but you will be more compensated
Options:

1) then

2) that

3) than

4) this

Correct Answer: than

Candidate Answer: that

QID : 200 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Most of all to the rambler on avian lore intent is the fact that there are many species and genera that are peculiar to the
West, and new to him, keeping him constantly on the 'qui vive'. Colorado you will look in vain for the common
blue jay, so abundant in all parts of the East; but you will be more compensated by the presence of seven other species

the jay household.

presence of seven other species the jay household.
Options:

1) for

2) to

3) of

4) off

Correct Answer: of

Candidate Answer: of
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